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St.1 EXR-BED I GEBR) feFRKEREREE (=)
—iRIEH _
KB (°C)
1 _XE [KE(CC) =B hE 2IKiR A Fiin =Xz R
48 TRAE 25.4 16.5 - 14.0 13.0 BE Shkfa-h| ER
68 £ 21.9 21.9 - 15.0 25 BE Exkfa-h| ER
8Bl ke 33.1 28.1 - 14.0 7.5 BE Exkfa-h| &R
108 R A 23.3 24.4 — 15.5 35 BE -] #\R
128 R A 10.7 17.4 — 14.0 7.0 BE Exfa-h| &R
28| fBh 1.6 11.7 - 14.0 10.5 BORsAL [ FRRE-d| ®E
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JEieth 03LLF | 0.03LLF
B (75%IE) - 7.8 0.9(1.1) - <0.5 0.17 0.016
4H == 8.1 8.0 0.6 = <0.5 = =
hE - - - - - - -
65 =B 8.2 7.5 1.1 - <0.5 0.15 0.010
hE - - - - - - -
8 g =B 8.2 7.3 0.9 - <0.5 0.13 0.016
8.2 6.8 0.9 - <0.5 0.21 0.020
10A ;E = ~ ~ — — = —
8.2 8.1 0.8 - <0.5 0.17 0.017
128 ;E = ~ ~ — — — —
8.3 8.9 1.3 - <0.5 - -
2R E = - = — - — —
BEEE (REBDHEHA)
NP INIESY & & Ao L IS fikEE |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#fE] 001LLF | FEEH [ 0018LF [ 00580 F | 001LLF [0.0005L0F| FE#EH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
Ay &R IAY IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.002u0F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -




TEZORRILETZE #osa | vy | A | moby | bl [MRERERS
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
_%éﬁ 0.01LLF [0.00251F [ 0.006LLF [ 0.00354F [ 0.0254F [ 0.01LLF [ 0.01LLF [ 10LF
a8 - - - - - - - -
6A[ - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28 = = = = = = = =
ZDHMIEE
Iz/—) i SS 2ER |soofkus| s
5 (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHE - - 2 - = =
T - - < - - -
4A
;- - - - - - -
RE - - 3 - - -
6 ﬁ ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
—_ —_ ‘I —_ —_ —_
10AR ; E — — — — — —
—_ —_ ‘I —_ —_ —_
12R ; E — — — — — —
—_ —_ ‘I —_ —_ —_
28 —2F - - ! - - -
Bl | BEEE ) ome
———wEE e T
®E [ 19000 = B
6 A 19000 - 0.01
;] - - 3
e fg 21000 - <0.01
108 fg 20000 - 0.01
128 fg 19000 - 0.01
o =B 17000 - -
;- 3 3 3
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A L C LK,
R o l 5 :Ei ;‘I\ N ;‘I\: o
e B RiEE — COD¥EH! |A(F#BIA) %%%?zumgéfﬁ_u
St.2 EX-BED I GEBR) KFRKEREESE (=)
—iRI5E _
K& (°C)
1 _XE [KE(CC) =E fE 2 KE A Fiin =Xz R
48 R EE 25.3 17.0 - 10.0 7.5 BE Shkkfa-h| ER
68 £ 21.8 22.1 - 10.0 35 BE Exkfa-h| &R
8Bl ke 32.9 28.1 - 10.0 7.5 BE Exkfa-h| &R
108 R A 23.4 24.5 — 10.0 4.5 BE Exkfa-h| &R
128 R EE 13.1 17.3 — 10.0 7.0 BE Exkfa-h| &R
2A| fBh 1.6 11.6 - 9.0 9.0 BORAL [BE@-d]| #®E
4FIRIEIER _ _
oH DO COD | XBEEH n-~AXY | 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 78~83| 75LLF | 20LLF | 1000LIF | JEietH 03LLF | 0.03LLF
EHE(75%IE) - 7.9 1.0(1.1) - <0.5 0.16 0.020
4H == 8.1 8.9 1.0 - <0.5 = =
hE - - - - - - -
65 =B 8.2 7.2 1.3 - <0.5 0.17 0.012
hE - - - - - - -
8 g =B 8.2 8.0 0.7 - <0.5 0.13 0.016
8.2 6.7 1.1 - <0.5 0.12 0.028
10A ;E = = = — — — =
8.2 8.0 0.9 - <0.5 0.20 0.023
12AH ;E = = ~ — — = =
8.3 8.8 1.1 - <0.5 - -
2R I = - = — - — —
BEEE (REBDHEHA)
NP INIESDY & ED Ao L IS Mk |(7rxLkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 001LLTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -
ooraoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S0A
Ay B&R IAY IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -




TEZORRILETZE Fosa | vy | TAY | moby | bl [MRERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
: I
_%éﬁ 0.01LLF [0.00280F | 0.006LF | 0.003LLF | 0.02L5LF | 0.01LLF | 0.01LF | 10LLF
aAl - = = = = = = =
6Al - - - - - - - -
sA[ - - - - - - - -
10A[ - g - - - - - -
128 - - - - - - - -
28 = = = = = - - -
ZDMIEE
Jz/—L| ss 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TRE = > = = =
T - - < - - -
4A
£, | - - - - - -
RE - - 2 - - -
—_ —_ 2 —_ —_ —_
8 ﬁ ;E _ _ _ _ _ —
—_ —_ 2 —_ —_ —_
10AR ; E — — = — — —
—_ —_ ‘I —_ —_ —_
12R ; E — - _ _ - -
—_ —_ ‘I —_ —_ —_
28 22 - - ! - - -
Bl | BEEE ) ome
———wEE e T
®E [ 19000 = B
6A 19000 - 0.01
hE - - -
A fg 20000 - <0.01
108 fg 20000 - 0.02
127 fg 18000 - 0.01
Iy =B 17000 - -
[ 3 - -



THRISEE

A L C LK
R o l 5 :Ei ;‘I\ N ;» 5 3 o
5 B Bt — COD¥EH! |A(F#BIA) i g}wmg %&_u
St.3 EFR-BEY 1 EBA) KEKEREESE (=)
—iRIEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE FERE Fiin =Xz R
48 R EE 23.6 16.8 17.4 9.0 9.0 BE Shkfa-h| ER
68 £ 22.3 21.9 22.0 9.0 3.0 BE Exkfa-h| ER
8Bl ke 32.1 28.2 28.9 9.0 7.5 BE Exkfa-h| &R
10A] 5 23.3 24.2 24.3 9.0 4.5 BE Exkfa-h| ER
128 A 12.9 17.1 16.9 9.0 9.0 BE Exfa-h| &R
28| fBh 1.6 11.7 11.2 9.0 8.0 BoRsAL [ FRRE-dh]| ®E
4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEfE| 78~83| 756LLF | 20LLF | 1000LIF | JEieth 03LLF | 0.03LLF
EHE(75%IE) - 7.7 1.0(1.1) - <0.5 0.15 0.020
4H == 8.1 8.2 1.0 - <0.5 - -
th 8 8.1 7.6 0.8 - - - -
65 == 8.2 7.5 1.3 - <0.5 0.22 0.014
th8 8.2 7.4 1.4 - - - -
8H == 8.2 7.0 0.7 - <0.5 0.12 0.017
th & 8.2 6.9 1.1 - - - -
108 == 8.2 7.0 0.8 - <0.5 0.14 0.026
th & 8.2 7.0 1.1 - - - -
128 == 8.2 7.9 0.8 - <0.5 0.12 0.021
th8 8.2 8.0 0.9 - - - -
25 == 8.3 8.7 1.1 - <0.5 - -
thE 8.3 8.9 1.2 - - - -
BEEE (REBDHEHA)
NP INIESDY & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
"y B&R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006LLF | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -




JFr+540ma(1,3->40 — . aen FAAR: N .
IFLY I:Ijl:l’f‘/ ?77-1-\ v j]j}-l/jj ’\JtJ tl// mﬁ%ﬁ&ixg&*u
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H#E{E] 0.01LLF [0.002L0F [ 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
EFEjE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8hH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
Al T - - - - - -
ZNDihEE
Ix/—IL % AL
SS 2@ (soafkiLL FLFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TR - : ? : : -
=B - - < - - -
—_ —_ ‘I —_ —_ —_
—_ —_ 6 —_ —_ —_
8 ﬁ ;E _ _ 2 _ _ —
—_ —_ ‘I —_ —_ —_
10R ; E - - 1 - — —
—_ —_ ‘I —_ —_ —_
12R ; E - - 1 - — —
2 - - ‘ - - -
A i — — 1 — — —
fi‘ﬁ@ iggﬁ B
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 - 0.01
=B 19000 - -
48 —mm 19000 . .
68 =B 19000 - 0.01
= 19000 - -
8H =B 19000 - 0.01
= 20000 - -
=B 20000 - 0.02
10A thE 20000 - -
=B 19000 - 0.01
124 th S 19000 - -
=B 17000 - -
2R —mg [ 17000 = =



THRISEE

A L T LK
e B RiEE — COD¥EE! | A(##BIA) FHERERVHERZEESE
" St.4 EXR-BED I GEBR) ReFRKEREREE (=)
—HRI5H _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A ;mﬂ =Xz R
48 R EE 21.6 16.8 17.7 11.0 11.0 BE Shkfa-h| ER
68 £ 22.3 21.9 22.0 12.0 4.5 BE Exkfa-h| &R
8H R A 32.6 27.8 28.1 11.0 10.0 BE Exfa-h| &R
108 R A 23.0 24.4 24.3 11.0 5.5 BE Exfa-h| &R
128 R EE 11.1 17.6 17.4 12.0 8.5 BE Exkfa-h| &R
28 Eh 74 11.9 11.6 12.0 12.0 BOREL | HEwm-h)| #E
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0351 F_ | 0.03LLF
B (75%IE) - 7.8 1.0(1.1) - <0.5 0.13 0.017
== 8.1 8.3 0.6 = <0.5 = =
4A th & 8.1 8.3 0.9 - - - -
65 =B 8.2 7.6 1.0 - <0.5 0.20 0.007
th & 8.2 7.5 1.1 - - - -
8 g =B 8.2 7.2 0.9 - <0.5 0.07 0.016
th & 8.2 6.8 1.1 - - - -
108 =B 8.2 7.1 1.0 - <0.5 0.11 0.022
th & 8.2 6.9 1.1 - - - -
128 =B 8.2 8.0 0.8 - <0.5 0.13 0.021
th & 8.2 8.0 0.9 - - - -
25 =B 8.3 8.8 1.2 - <0.5 - -
B 8.3 8.8 1.2 - - - -
BEEE (REBDHEHA)
NP INIESDY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -
vonnoi | miEk [1,2->900( 1,1-Syaa [Yzx-12-4(1,1,1-k)58] 1,12-Fy 50 | FUS0O0
sy B THY IFLy | BAIFLY | OIAY Axsy | IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -




Th3/00(1,3->4n = s —pata FAAL TN .
IFLY I:Ijl:l’f‘/ ?77-1-\ w2 j]j}-l/jj _otEY LY mﬁ%ﬁ&ixg&*u
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BB 001LLF (00024 F [ 0006LLF [ 000384 F | 002LLF [ 001L4F [ 001LLF [ 10LLF
EF_EE — — — — — — — —
a8 - - - - - - - -
6A[ - - - - - - - -
sA[ - - - - - - - -
10A] - g g g g - - -
12A] - - g g g - - -
2H - - - - - - - -
ZTDHIEE
Iz/—) i SS 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHEl - - 1 - - -
ET: - - < - - -
4H ;E _ _ <-| _ _ —
—_ —_ ‘I —_ —_ —_
6 ﬁ ;E _ _ -I _ — —
—_ —_ ‘I —_ —_ —_
—_ —_ ‘I —_ —_ —_
10R ; E - - 5 - - -
—_ —_ ‘I —_ —_ —_
12R ; E - = 1 — - -
2 = = 1 = = =
A e - - 1 - - -
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EHIE| 19000 - 0.01
=E 19000 - -
4R —mg 19000 = .
68 =E 19000 - <0.01
B 19000 - -
8H =E 19000 - <0.01
B 20000 - -
=B 20000 - 0.01
108 thE 20000 - -
=E 18000 - 0.01
12R th S 19000 - -
=E 17000 - -
2R —mg [ 17000 = =



THRISEE

BA L CILHKE
e B B — COD#EH! |A(R#m) FHEERUVHABZESE
" St.5 EXR-MEY O (WEA) RREKEREREE (=)
—i%IEH _
K& (°C)
_ XiE KB (°C) =B hE 2IKiR A Fiin =X B&
4 8 R EE 215 16.8 17.6 15.0 13.0 BE kEf-h ms
68 £l 21.7 21.9 22.0 16.0 5.0 BE -t |
8AH RS 31.9 275 28.1 15.0 14.0 BE TRt |
108 R AE 23.0 24.3 24.3 16.0 75 BE TRt |
128 R EE 11.1 18.0 17.6 16.8 11.0 BE kEf-h |
28| fBh 7.0 12.1 11.9 15.0 10.5 BORAL [BE@m-d| #®E
4RIRIKIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RElE| 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.3LLF | 0.03LLF
EHE(75%ME) - 8.0 1.1(1.2) 12 <0.5 0.14 0.016
4H =B 8.1 8.4 0.5 - <0.5 - -
B 8.1 8.4 0.8 - - - -
65 =B 8.2 7.6 1.1 0.0 <0.5 0.23 0.007
B 8.2 7.4 1.0 - - - -
8 g =B 8.2 8.0 1.0 - <0.5 0.07 0.017
B 8.2 7.2 1.2 - - - -
108 =B 8.2 75 1.2 - <0.5 0.12 0.019
B 8.1 7.0 1.6 - - - -
128 =B 8.2 8.2 0.8 23 <0.5 0.15 0.020
B 8.2 8.2 1.3 - - - -
25 =B 8.3 9.0 1.3 - <0.5 - -
B 8.3 8.8 1.1 - - - -
BEEB (RBDHAEHHR)
LIS INIES P E ANEo0OL T fikER |7L¥LKER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 001 LT | e | 001LLF | 0.05L0F | 0.01LLF 10.0005LLTF | JE#EH JERE |
E{E]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
48 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
8A - - - - - - - -
108 - - - - - - - -
128] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
28l - - - - - - - -
vonnoi | miEk [1,2-0900( 1,1-Syaa [Yzx-12-4(1,1,1-k)58] 1,12-Fy 50 | FUS0O0
sy B THY IFLy | BAIFLY | OIAY nxsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 0.02LLF [0.0020F | 0.004LLTF | 0.02LLF | 0.04LLF 1LUF 0.006LLF | 0.03LL'F
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
48 - - - - - - - -
68| <0002 [ <0.0002 | <0.0004 <0.002 <0.002 <0.10 <0.0006 <0.003
8A - - - - - - - -
108 - - - - - - - -
12A8] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
;1 - - - - - - -




Fh5490n(1,3-o40 = St FARY S . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001LLF | 001LLF 10LLF
E{E]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.03
48 = = = = = = = =
68| <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.03
8AH - - - - - - - -
108 - - - - - - - -
12A8]| <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.03
2A] - - - - - - - -
ZTNDIEH
RV L
Jx/—) 7] SS 2% (snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - = ] - - -
=B - - <1 - - -
4ﬁ ¢E _ _ <1 _ _ _
=E - - 1 - - -
6 ﬁ ;E _ _ -I - _ —_
—_ —_ 1 —_ —_ —_
—_ —_ 1 —_ —_ —_
10R ; E - - ] - - -
—_ —_ 1 —_ —_ —_
12R ; E - - ] - - -
—_ —_ 1 —_ —_ —_
2
Bkt | EINERE . .
(mg/1) (mg/1) (mg/1)
E¥E] 19000 0.01 0.01
=B 19000 - -
4A @ | 19000 - -
65 == 19000 <0.01 0.01
B 19000 - -
8 g == 19000 — <0.01
B 19000 - -
== 20000 — 0.01
108 thE 20000 - -
=B 19000 0.01 0.01
128 th S 19000 - -
=B 17000 - -
2R —mg [ 17000 = =



THRISEE

BA L CILHKE
e B B — COD#EH! |A(R#m) FHEERUVHABRZESE
" St.6 ER-MEB O (EER) RREKEREREE (=)
—i%IEH _
K& (°C)
_ XiE KB (°C) =B hE 2IKiR A ;mﬂ =X B&
48 R EE 17.4 16.5 16.8 20.0 15.5 BE kEf-h ms
68 £l 21.3 21.8 21.9 20.0 5.5 BE - |
8AH R AE 32.0 27.2 27.9 20.0 145 BE kEf-h |
108 R AE 23.8 24.3 24.4 20.0 14.0 BE kEf-h |
128 R AE 12.7 18.4 18.1 20.0 12.5 BE kEf-h |
28 Eh 7.6 12.5 12.3 20.0 11.5 BOREL | HEwm-h)| #E
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RG] 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.3LLF | 0.03LLF
EHE(75%E) - 7.8 1.1(1.10 6.5 <0.5 0.12 0.017
4H =B 8.1 8.5 0.8 - <0.5 0.17 0.017
B 8.1 8.3 1.2 - - - -
65 =B 8.2 7.6 1.1 0.0 <0.5 0.13 0.008
B 8.2 7.4 1.1 - - - -
8 g =B 8.2 7.2 0.9 - <0.5 0.10 0.016
B 8.2 7.1 15 - - - -
108 =B 8.2 7.3 1.1 - <0.5 0.10 0.019
B 8.2 7.3 14 - - - -
128 =B 8.2 7.7 0.8 13 <0.5 0.11 0.016
B 8.2 7.9 1.1 - - - -
25 =B 8.3 8.8 1.0 - <0.5 0.13 0.028
B 8.3 8.4 1.1 - - - -
BEEB (RBDHEHR)
LIS INIES P E ANEo0OL T fikER |7L¥LKER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 001 LT | e | 001LLF | 0.05L0F | 0.01LLF 10.0005LLTF | JE#EH JERE |
E{E]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
48 - - - - - - - -
68l <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
8A - - - - - - - -
108 - - - - - - - -
128] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
;1 - - - - - - -
ooanid | mige [1,2->o00] 1,1-CHan [Lzx-12-C4|1,1,1-k) Al 112-ky4a | F)20O0O
9‘/ b 19‘/ IFLY AapQITFLYy aT4y aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 0.02LLF [0.0020F | 0.004LLTF | 0.02LLF | 0.04LLF 1LUF 0.006LLF | 0.03LL'F
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
48 - - - - - - - -
68| <0002 [ <0.0002 | <0.0004 <0.002 <0.002 <0.10 <0.0006 <0.003
8A - - - - - - - -
108 - - - - - - - -
12A8] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
;1 - - - - - - -




Fh5490n(1,3-o450 = St FARY S . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| (Bl 0.01LLTF [0.00280F [ 0.006LLF | 0.003LLF [ 0.028LF [ 001LLF [ 0.01LLF [ 10LLF
E{E]  <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.07
4R - - - - - - - -
6A] <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
8H - - - - - - - -
108 - - - - - - - -
128 <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.04
28 - - - - - - - -
ZDhIEE
Jz/—L| 6 ss 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - = 1 - - -
=E - - <1 - - -
A om - - G - - -
=RE - - 1 - - -
—_ —_ 1 —_ —_ —_
—_ —_ <1 —_ —_ —_
10R ; E - - ] - - -
—_ —_ <1 —_ —_ —_
12R ; E - - ] - - -
—_ —_ 1 —_ —_ —_
2
Bty | EEEH . .
(mg/1) (mg/1) (mg/1)
EHIE] 18000 0.01 0.01
=B 19000 - -
4R —mE 19000 = =
65 =B 19000 <0.01 <0.01
B 19000 - -
8H =B 19000 - <0.01
B 19000 - -
=B 20000 - 0.01
108 thE 20000 - -
=B 19000 0.01 0.01
12R th S 19000 - -
=B 17000 - -
2R —mg [ 17000 = =



